

$$1^2 \rightarrow \text{پایان دسته اول}$$

$$2^2 \rightarrow \text{پایان دسته دوم}$$

$$3^2 \rightarrow \text{پایان دسته سوم}$$

$$1^2 + 1 = 2 \rightarrow \text{شروع دسته 2}$$

$$2^2 + 1 = 5 \rightarrow \text{شروع دسته 3}$$

$$4^2 + 1 = 17 \rightarrow \text{شروع دسته 4}$$

$$9^2 = 81 \rightarrow \text{پایان دسته 9م}$$

$$\text{میانگین} = \frac{45 + 81}{2} = \frac{126}{2} = 63$$

$$a_n = 3(B a_{n-1} + 1)$$

$$3 = \text{تعداد اعضای دسته اول}$$

$$2^{\text{دسته}} = 3(3+1) = 12$$

$$3^{\text{دسته}} = 3(12+1) = 39$$

$$4^{\text{دسته}} = 3(39+1) = 120$$

عدد اول دسته بعد از دسته قبل به علاوه یک است در واقع عدد آخر ←

$$120 + 1 = 121 = 11^2$$

$$3(120+1) = 363$$

$$\frac{363 + 121}{2} = \frac{484}{2} = 242$$

$$n=1 = 3(0) + 1 \Rightarrow k=0$$

$$a_1 = -2(0) + 4 = 4$$

$$n=2 = 3(1) + 2 \Rightarrow k=1$$

$$a_2 = \left[\frac{2}{1+2} \right] + a = 1 + a$$

$$n=3 = 3(2) + 3 \Rightarrow k=2$$

$$a_3 = 14 \quad a = \frac{-a_3}{V} = \frac{-14}{V} = -1.2$$

$$a_4 = 17.2$$

$$n=4 \Rightarrow 4a + 5B + C = 17.2 \xrightarrow{a=-1.2} 5B + C = 14$$

$$L \rightarrow a_n^r + Bn + C$$

$$n=5 \Rightarrow 5a + 6B + C = 17.2 \xrightarrow{a=-1.2} 6B + C = 17.2$$

$$-9.1 + 6B + C = 17.2 \quad a_5 = 22.5a + 15B + C =$$

$$6B + C = 26$$

$$= 5a + 5a = 14 \frac{a_5}{a_1} = \frac{14}{2.1} = 7$$

$$A \in, A_n \rightarrow \text{دنباله حسابی} \Rightarrow d = \frac{A_n - A_1}{n-1} = \frac{A_n - A_1}{n-1} = d$$

$$u_r, u_v \rightarrow \text{اولی خطی}$$

$$u_1 a = 15n - 10n = 5n$$

$$u_1 a = u_v - u_r$$

$$\rightarrow a_n + d \rightarrow r_n + d$$

$$u_v - u_r = 5n$$

$$n = \frac{u_v - u_r}{5}$$

$$\frac{u_1 a}{d} = \frac{u_v - u_r}{A_n - A_1} = \frac{5(u_v - u_r)}{A_n - A_1}$$

$$u_1 = 10.1 + d = 0 \quad d = -10.1$$

$$a_1 = a \quad a_r = a + d \quad a_r = a + rd \Rightarrow a = a + rd$$

$$4a^r = \omega a + a + \kappa a + a$$

$$4(a+d)^r = \omega(a+rd)a + \kappa(a+d)a$$

$$4a^r + 4rad + 4d^r = \omega a^r + \omega rd + \kappa a^r + \kappa ad$$

$$4a^r + 4rad + 4d^r = \omega a^r + \omega rd + \kappa a^r + \kappa ad$$

$$4a^r + 4ad - 4d^r = 0 \quad \frac{a}{d} = u \rightarrow 4u^r + u - 4 = 0$$

$$\frac{ar}{d} = \frac{u}{d} + \kappa = u + \kappa$$

$$x = \frac{\kappa}{r} \Rightarrow \frac{\kappa}{r} + \kappa = \frac{a}{r} \Rightarrow d$$

$$u = -r \Rightarrow -r + \kappa = 1 \Rightarrow d$$

$$\Delta = b^r - 4ac = 1 + 4\kappa = 4\kappa$$

$$u = \frac{-b \pm \sqrt{\Delta}}{2a} = \frac{-r \pm \sqrt{4\kappa}}{2} = \frac{-r \pm 2\sqrt{\kappa}}{2}$$

$$\frac{\frac{a}{r}}{b} = \frac{\frac{c}{a}}{\frac{a}{r}} \Rightarrow a^r = bc \Rightarrow a^r = (a+d)(a+rd) = a^r + \kappa ad + rd^r$$

$$\kappa ad + rd^r = 0 \quad d(\kappa a + rd) = 0$$

$$r = \frac{a}{d} \leftarrow r = 1 \leftarrow r = \frac{a}{d} = \frac{1}{r}$$

و صوابه 1/1
صوابه اول d=0

$$r = -r \leftarrow r = \frac{a}{b} \cdot \frac{-d}{\kappa} \leftarrow b = a + d = \frac{d}{\kappa} \leftarrow \kappa a + rd = 0 \rightarrow a = -\frac{rd}{\kappa} \leftarrow d \neq 0 \text{ صوابه } r$$

$$b = aq \quad c = aq^r$$

$$ra - \kappa b = c - ra$$

$$ra - \kappa(aq) = aq^r - ra$$

$$\kappa = \kappa a^r + q^r \rightarrow a^r + \kappa q - \kappa = 0$$

$$(q + \kappa)(q - 1) = 0 \Rightarrow q = 1, q = -\kappa$$

$$\frac{Tq}{T_4} = a^r \rightarrow q = -\kappa \Rightarrow (-\kappa)^r = 4\kappa$$

$$\rightarrow q = 1 \Rightarrow (1)^r = 1 \times$$

جواب نهایی -4\kappa

$$\frac{aq^r}{(aq)^r} + \frac{aq}{(a_1)^r} = \frac{a^r}{a^r} + \frac{a}{a} = r$$

$$u = \frac{a}{a} \rightarrow u^r = \frac{a^r}{a^r} \rightarrow u^r + u - r = 0 \quad (u + r)(u - 1) = 0 \Rightarrow u = 1$$

$$u = -r$$

$$\frac{a^r}{a^r} = \frac{a^r}{a^r} = \frac{a}{a} \rightarrow \frac{a}{-ra} = -\frac{1}{r} \quad u = \frac{r}{a} \quad q = a \quad q = -ra$$

$$\frac{a}{a} = 1$$

$$a_1 = a \quad a_n = aq^{n-1}$$

$$a_n = rV$$

$$a^r = \sqrt{a^r}$$

$$a = \frac{1}{q}$$

$$a^r = \sqrt{a^r} \rightarrow (a^r)^r = (\sqrt{a^r})^r \quad a_n = \frac{1}{q} \times q^r = rV \rightarrow q^r = rV \rightarrow q^r$$

$$\rightarrow a^r q^r = aq^r$$

$$a = \frac{1}{q} = \frac{1}{\kappa}$$

$$a \neq 0$$

$$aq^r = q^r \Rightarrow a = \frac{1}{q}$$

$$\frac{1}{r} - \frac{1}{\kappa} = \frac{\kappa - r}{4} = \boxed{\frac{1}{4}}$$